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Q1. 1. Choose the correct option

d) All of the above

B. Which of the following is invalid pair
a) (Change in Objective function coefficients of fion:basic variable, Sensitivity analysis)
b) (shortest path problem, Simplex) o
¢) (Economic interpretation , dual snnplex)
d) (Linear problem, Lagrange) Fm, [CO2,CO3]

cohhnuous function optimization
by simplex for LPP
-d) none of the above [CO3]

C. Which one is not valid methgd of
a) simplex with direct search.
c) Grid search

D. Which of the followmg is vahd termmatlon condition of non gradient optimization

procedure, assume f is 'bjechve function
8) ||Vfz=s,||-2 < thireshold
b) |Vﬁc_xtlf threshold
¢) frier =l < threshold
d) all of above [CO1]
E Wthh of the Hassian matrix not satisfies convexity
a)[o 2
-5 0
b [50 1 2]
905 5
d) [—15 0] [COL1,C02)



Q2. Explain Shortest path problem with LPP for A to E. Consider one of the below graph.
[CO1,CO4] [5]
Q3.

Which one is the correct graph for applying Prims algorlthm and find out the minimum spanning
tree? S [CO4]  [CO3][5]

Q4 Minimize X;-X,+2X{+2XZ+2X, X, with -simi)i'ex:f;lirect search method. [CO4] [5]
Q5. Explain the idea of steepest desggmt,-i?lg\drithm. Can we apply it for linear problem like
simplex? Show the derivation of step stze(ll) [CO1,C04] [2+1+2]
Q6. Which would be suit_able. “
apply that to minimize.
X? + Y2 such that X
Q7 Minimize X2+XZ

irect subistitution or Lagrange of below example and why? Please

[CO1,C03,C04] [2+3]

X1— 6X, such that X;+X,<=3 and—2X,+X,<=2. [CO1,CO4,CO3][5]




